55 202110231 L ¥ 15— X8

BRREPIL -
G E B 1[0 | 2[0] 35 4o | 5[ | 6[F | 7E H
XhKEWa l kers 0 3 9 1 1 14
A #15-X 1 [ 0 0 1 2
5 B ® a7 =[x &8 — | w & o E
F—LITERR & £ g a|E g i 2|2 |2 |4 2 ﬁ ; g :? : g % g g = 1
1[2[3[4]5]6]|7] BFE | £ [ B2 [ &R [»| £2 [+ #2 || &R || &2 [»] £2 [» = ) B | #® gl |a|s|" | £ % | =® =
RIREGEEER 0L wdox| | #&do 1] ik =i 36[ant mizamiowal| 174 |37 a4 [ 3| oo ool ol 1|11 1]oloflolo|1]o0o] o] 305 .188
BIEEEEE ZS =i &0 PuER PuER o|sEamx3 | 306 (23] 4| 2] ool ofofofol2]1]2]o]lo]lo]o|o]|1]|o] 400 | .333
ElIEEEEE 1550h | BINE mk | | =Jo% =ik 27|masewloseoal| 164 |43 a [ 3| 1 oo o 1ol o| 1] 1]oloflofo| 1] 1] o] 3490 .205
@ [ === NoBPA MUk PR —Jo|1 hg |1 6 |tamimseal| 250 (47 4 [ 3 2o ool 2]2]1]o]1]olo]olo| oo o] 3904 | 274
BIEREEE 3y &30 &30 — —Jo 9 [Ha A 167 |47 4| a4l ofofloflo]lo|lol1]oflolo[ololo[o]lo]o] .300] .167
© ||| o[ LA =ik EEK =Jo%| |—mz s{a mlAnl | 145 (51| 4 [ 3|1 [ofofof 1ol 1|1l o]l1]ololo|1]2]0o] 360 .169
RIEEEREE - =& | |ZJox PR =10 qa|=m #Evs-1| 338 (41| 4| 4| 1 ool o|t]ol 1] 1]ofloflofolol1]1]o0] 45 | .351
BRI EE I 50— 2 R |1 =10 sifi malzso-1] 292 (48 3| 211 ofol2]13]olo|l1]oflofloflo|]2]o0] 393 ] .53
BRI B A% | |[#Edox =10 22 =4 1ERI(EA) 286 |49 3 [ 3| 1 |ofloflo|lt]o]l2]ofloflofofolol1]o]o] .36 | .429
(0 || ep|ep|ep[= 2% =% mEk |1 ok 7 wmeamizes)| 347 (48 3 [ 2 [ 1ol oo 11| 2]o]1]olo]lo]o|1]o] o] .555 | .440
1)
©
i€
(14)
(15
(16)
)
(18
L3> ast 266 | 55[37]29] 8 1 0] 0] 9] 5]14] 5] 6] 2]0]o0o]o0] 6] 7] o] .409 | .378
=847 w( ® | 5|5 |& R =] E
—my 1-450- (28) Tlal=|2 w|=|pll |2 -
prate] 7-445vh (1E) . #90-2 (2@-4E) LAx2 (4E-5E) | Ivs— (4E) /X3 (5E) STBRFISE R 1|0 ||| K K R WEITE| =
BEK w]l®] 36 2015 s [o|a| 23|31 |11|3] 333|213
R (3T5) @ | ® | 10 |45 6|14 3o 2o 2]o0ofo|3]1] 214|223
EER] =A 108 (F—L7 AH-9 38R- 1 24345A) E)
EER] @)
SHEAFITE RS FER | e FER o] RER e BER || BR[| BR || BR || BR | ast 37| 29| 8| o| 6| 2| 5| 3| 1]|14| 4| 276 | 5
0] ® | 36 —10 %30 WI06t RIY
Q]| ® =] Eii:Eid =70 ARK w=2
3| ® | 13 |k ER%E =ik PUER BAIETE H 26HA4BOMISOH R
@| ® | 19 |AwW 0% PUER =10 -7 BER
5 & 2 FEEK =ik =Jo% =Lk % (SF1R) 2-790-—3U—N>Bbh (4E) | AT5pA—RAET>—LA% (5E)
©] ® %0 TR 0t BT K5 6-3y¥—2 (1[E-5@) A>5rh2 (1E-2E) .4 (3E) . LAx (5E)
7| ® =ik BEBK B b B5 -5 . | B ®&|E]|" w| | ® | 5|5 |& R =] w "
® ® | 10 |5 0% R & T o | & : a| ™m0, ': g g 2|2 % | = i | i 5| 4 -
9] ® | 10 30 =ik = £ g E24 B ®m| 7 K T | a7 || B | R g |17 & B Ed
10 22| =4 1ERI(EA) 566 |26 9| 0| 4] 9] 1] of308 1915 1o 22400 1]o0] 067]4
w 27|t EElosval| 292 | 15| 6 | 0| 1| 0| 0| 0 Jtoof 5 | a | 0| 0| 1|0 oo o| 1|0 000 |1
©
[iE]
(14)
(15)
&t 540 | 55]55] 9 |17 34] 4| 6 [333[24[19] 1 [ 0| 3| 2| 4] 0] 0] 2] 0] .053 |5

FMEWalkers



